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funsZ'k& 

¼1½ lHkh iz'u gy djuk vfuok;Z gSA 
¼2½ iz'u&1 ls 5 rd 32 oLrqfu"B iz'u gSA lgh fodYi 06 vad fjDr LFkku 07vad] lgh 

tksM+h 06 vad] ,d okD; esa mRrj 07 vad lR;@vlR; 06 vad laca/kh iz'u gksxsA  
izR;sd iz'u gsrq 01 fu/kkZfjr gSA  

¼3½ oLrqfu"B iz'uksa dks NksM+dj vU; lHkh iz'uksa esa vkarfjd fodYi ls izko/kku gksxkA  
 fuEu iz'uksa dh mRrj lhek fuEukuqlkj gksxhA 
¼i½ iz'u Ø-6 ls 15 rd izR;sd iz'u ds fy;s 02 vad fu/kkZfjr gSA  

¼'kCn lhek yxHkx 30 'kCn gSA½ 
¼ii ½ iz'u Ø-16 ls 19 rd izR;sd iz'u 03 vad fu/kkZfjr gSA  

 ¼'kCn lhek yxHkx 75 'kCn gSA½ 
¼iii ½ iz'u Ø-20 ls 23 rd izR;sd iz'u ds fy, 04 vad fu/kkZfjr gSA  

 ¼'kCn lhek yxHkx 75 'kCn gSA½ 
Indtractions:- 
1)   All question are Compuleory 
2)   Question Number 01 to 05 are Ojective type question Contining 32 Sub question  

    earch Sub-question is of 01 mark. 
3)   in question Number 06 to 23 internal choices have been give in earch. 
i) Question number 03 to 15 are of 02 marks each. The word limit for answer writing is 

about 30 words. 
ii)  Question number 16 to 19 are of 03 mark each The word limit for answear writing is 

bout 75 words. 
iii)  Question number 20 to 23 are of 04 marks each. The word limit for answer writing is 

about 120 words. 

1- lgh fodYi pqfu,        1x6 =6 
¼d½ jk"Vªh; ;kstuk lfefr ds v/;{k dkSu gSA 
 ¼i½ tokgj yky usg:  
 ¼ii ½ fo|k lkxj 
 ¼iii ½ T;ksfrck Qqys 

¼iv½ ukjk;.k xq: 
¼[k½ ukxnk dh HkVMhg dks;yk [kkuksa esa fdrus [kkudehZ Qals gq, FksA 
 ¼i½ 54  
 ¼ii ½ 50 
 ¼iii ½  80 

¼iv½  90 



 
¼x½ ukbds dEiuh ds n'kd esa LFkkiuk cgqr rsth ls fodflr gqbZ & 
 ¼i½ 1960  
 ¼ii ½ 1990 
 ¼iii ½ 1970 

¼iv½ 1980 
 

¼?k½ 1957 esa vkdk'kok.kh us vR;ar yksdfiz; pSuy dks 'kkfey fd;kA 
 ¼i½ fofo/k Hkkjrh 
 ¼ii ½ Mh-Mh-Hkkjrh 
 ¼iii ½ jsfM;k lhyksu 

¼iv½ nwjn'kZu 
¼M+½ vk;q lewg fijkfeM esa pkSFkk fijkfeM ?kkrd gSA 
 ¼i½  1961 
 ¼ii ½  1981 
 ¼iii ½  1990 

¼iv½  2026 
¼p½ Hkkjr ds ,d vxz.kh lekt'kkL=h gSA 
 ¼i½  ujflagkpkj Jhfuoklu 
 ¼ii ½  ukjk;.k xq: 
 ¼iii ½  lkfo=h ckbZ Qqys 

¼iv½  v;udYyh 
 Choose the Correct option from the following and write:- 

1. Who is Chairman of national Planning Committe. 
(i) Jawaharlal Nehru. 
(ii)  Vidha Sagar. 
(iii)  Jyotiba Fule. 
(iv) Narayan Guru. 

2. How many mines wear trappad in nagda's Coal mines. 
(i) 54 
(ii)  50 
(iii)  80 
(iv) 90 

3. Establishment grew very rapidly in the decade of the nike company. 
(i) 1960 
(ii)  1990 
(iii)  1970 
(iv) 1980 

4. All india Radio,Included the most Popular Channal in 1957. 
(i) Vividh Bharti. 
(ii)  D.D. Bharti 
(iii)  Radio Silam. 
(iv) Television. 



5. The fourth pyramid in the age group pyramid is deadly. 
(i) 1961 
(ii)  1981 
(iii)  1990 
(iv) 2026 

6. India's renowned sociologist. 
(v) Narshinghachar Shri Nivasan 
(vi) Narayan Guru 
(vii)  Savitri Bai Fule 
(viii)  Ayyankali 

 

2- fjDr LFkkuksa dh iwfrZ dhft,&        1x7 =7 
¼i½ enazkl ls cnydj------------------------------------fd;k x;k gaSA 
¼ ii½ jktk jke eksgujk; us--------------------------- dk fojks/k fd;k FkkA 
¼ iii ½ d`f"k etnwj vius dtZ ds cnys tehnkj ds ikl ------------------------etnwjh djrs gaSA 
¼ iv½ ,saMjlu ds dFkukuqlkj ge jk"Vª dks---------------------------------dh rjg eku ldrs gSA 
¼ v½ tulaWakfa[;dh ds lokZf/kd izfl) fl)kUr vaxzst jktuhfrd] vFkZ'kkL=h-------------------ds  
    uke ls tqM+k gaSA 
¼ vi½ mRrjh igkfM+;ksa dh efgyk xqfQvkyks------------------vkanksyu esa Hkkx ysdj e'kgwj gqbZ 
    gaSA 
¼ vii½ ckS) /keZ ds Hkkjrh; lafo/kku ds izeq[k --------------------------f'kYidkj gSA 

   Fill in the Blanks. 
(i) Changes From Madrash......................Vacant. 
(ii)  Raja Ram Mohan Ray had opposed the....................place. 
(iii)  Agricultural Laboures work in.........................place with the Zamidar in return for 

their loans. 
(iv) With the Footsteps of philosophy we can..................treat the nation as an empty 

space. 
(v) The most famous of the demography principle of English,Politicion Economist 

is......... 
(vi) The Woman of the upper hills was again famous for participating in the.............. 
(vii)  The main blank of the Indian Constitution of Buddhism is the..................... 

3- fuEufyf[kr dh lgh tksfM;k cukbZ;s&        1x6 =6 
¼i½ ba¶yw,atk     & ¼i½ dsjy 
¼ ii½ v;udYyh    & ¼ii ½ /kkfeZd igpku  
¼ iii ½ lkaiznkf;drk    & ¼iii ½ 2005 
¼ iv½ lwpukf/kdkj vf/kfu;e   & ¼iv½ {kek ;kpuk 
¼v+½ fotsrk i{k    & ¼v½ ejkBh 
¼ vi½ dsljh if=dk    & ¼vi½ fo"kk.kq 

      Match The  Correct pairs of the Following 
Columa-A    Columa-B 

¼i½ In fluenza     & ¼i½ Kerala 

¼ii ½ Aayyankali    & ¼ii ½ religious identity 

¼iii ½ Black Communalism   & ¼iii ½ 2005 



¼iv½ Right to Information Rule  & ¼iv½ apology excuse 

¼v½ Winning side    & ¼v½ Marathi 

¼vi½ Kesari patrika    & ¼v½ virus 

 

4- ,d okD; esa mRrj nhft,&        1x7 =7 
¼ i½ iztuu nj dk vFkZ D;k gS\ 
¼ ii½ jk"Vªh; ifjokj fu;kstu dk;ZØe dk uke cnydj j[kk x;k gS\ 
¼ iii ½ lkeqnkf;d igpku dk egRo fdl ij vk/kkfjr gS\  
¼ iv½ pk; m|ksxksa dh 'kq:vkr Hkkjr esa dkSu ls lu~ esa gqbZ\ 
¼ v+½ vesfjdu QzSMfjd fcuLyks Vsyj us ,d O;oLFkk vkfo"ddkj fd;k Fkk\ 
¼ vi½ bZ'ojpanz fo|k lkxj us caxyk Hkk"kk esa i= 'kq: fd;k\ 
¼ vii½ lkekftd vkanksyu ds izdkj fyf[k, \ 

 Give The answer in one word. 
 ¼ i½ What is the meaning of fertility rate. 
 (ii)  National Famaily planing program has been renamed. 
 (iii) The importance of community identity is based on. 

(iv)  In which year did tea industries started in india. 
(v)  American Fraidrik Binslow  Trailer invented an arrangement. 
(vi)  Ishwar chandra vidha sagar gave letter in Banglaw's language. 

 (vii)types of social movement.  

5- fuEufyf[kr iz'uksa ds mRrj lR;@vlR; esaa fyf[k,------    &1x6 =6 
¼ i½ gj oks etgc tks dqN yksxksa dks lgqfy;r nsdj ckdh dks oafpr dj nsa-&  
    eqDrkckbZ us fy[kkA 
¼ ii½ lkekftd ifjorZu ds laLd`frdj.k izdkj ugha gSA 
¼ iii ½ f'kf{kr gksus ds fy, fuj{kj gksuk t:jh gSA  
¼ iv½ ledkyhu tutkrh; igpku ugha gSA 
¼ v+½ Hkkjr izFke fiNM+k oxZ vk;ksx dk uke e.My vk;ksx gSA 
¼ vi½ dchjnkl ds nksgs fgUnw vkSj eqlyeku ds izrhd gSA 

 Answer the Folloeing questions in true and        &1x6 =6 
(i) Every Religion that some people mark the rest by giving  comvemienee................ mukta  
    bai showes. 
(ii) Sanskritization in not a type of social change. 
(iii) To be educated it is necessary to observe. 
(iv) Contemperory tribe is not indentifed. 
(v) Indian first Backword commision's name is mondal commision. 
(vi) The couplets of kabir das are symbols of hindu and musliam. 
 

6- lk{kjrk dk vFkZ fyf[k,         2 
Write the meaning of literacy 

vFkok  
L=h iq:"k vuqikr dk vFkZ fyf[k,A 
 Write the meaning of male to femal ratio. 

 



7- vYi la[;d ¼oxZ½ D;k gS\  
What is minority?          2 

vFkok 
lkaiznk;okn D;k gS\ 
What is Communilism?. 

 

8-lakLd`frd fofo/krk dk vFkZ fyf[k, gS\       2 
Write  the meaning of Cultural diversity? 

vFkok 
lkeqnkf;d igpku D;k gksrh gS] vkSj dSls curh gS\   
What is Community identity and show it is make? 

 

9- Loar= Hkkjr esa uxjhdj.k dh fo'ks"krk,a fyf[k,\      2 
Write  the features of urbanization in independent india?  

vFkok 
ckxkuks ads ekfyd dSls jgrs Fks\  
How do gardener's oweners live? 
  

10- lkekftd ifjorZu ds izdkj fyf[k,\       2 
Write  the types of social changes. 

vFkok 
vk/kqfudh dj.k dk vFkZ fyf[k,\  
Write the meaning of modermization. 
 

11- etnwj la?k dh fo'ks"krk,a fyf[k,\        2 
Write  the Features of trade union? 

vFkok 
gM+rky ds nkSjku dkexkj vkSj ifjokj dks dSls cpk,\ 
How to save worker and family during strike? 
 

12- jkstxkj ds voljkas ds nks rRoksa ds uke fyf[k,\      2 
Name two elements of employment oprotunities? 

vFkok 
 ?kjks esa gksus okys dke fyf[k, \ 
 Write the name of works which is starts in homes. 

 

13- jsfM;ks dh fo'ks"krk,a fyf[k,\        2 
Write  the characteristics of radio? 

vFkok 
Vsyhfotu dh fo'ks"krka, fyf[k,\  
Write the characteristics of television? 
 

14- ernku dk vf/kdkj D;k gS \        2 
What  is the right to vote? 

vFkok 
jktkjke eksgu jk; us fdl lekt dh LFkkiuk dh gS\  
Which samaj founded  by Raja Ram Mohan Ray? 



 
15- oxZ vk/kkfjr vkanksyu ds uke fyf[k, \       2 

Name the class based Movement. 
vFkok 

tkfr vk/kkfjr vkanksyu ds uke fyf[k,\ 
Name the cast based Movment. 
 

16- tkfr dh fo'ks"krk,Wa fyf[k,\         3 
Write  the Characterstics of caste. 

vFkok 
ifjokj vkSj ukrsnkjh esa vUrj fyf[k,\ 
Write the difference between family and kinship. 
 

17- jk"Vªh; thou ds fopkjk/khu fcUnqvksa ds uke fyf[k,\     3 
Write  the name of prisoner under consideration of national life. 

vFkok 
Lora= Hkkjr esa vkS/kksxhdj.k dh fo'ks"krk,Waa fyf[k,\ 
Write the characteristics of Industrialization in indapendent india. 
 

18- mUuhloh vkSj chloha 'krkCnh ds lekt lq/kkj vkanksyu ds uke fyf[k,\  3 
Write the Social Reform movement of the 19th and 20th cenutures? 

vFkok 
Hkkjr esa d`"kd vkanksyu ij laf{kIr ys[k fyf[k,\  
Write the short notes on peasant's Movements in India? 
 

19- HkweaMyh; vkSj lapkj dh fo'ks"krk,sa fyf[k,\      3 
Write  the Features of global Communication.. 

vFkok 
fyax vkSj laLd`fr dh fo'ks"krk,sa fyf[k,\  
Write the characteristics of gender and Culture. 
 

20- mifuos'kokn ds dkj.k tkfr O;oLFkk esa D;k&D;k ifjorZu vk,\    4 
What were the changes brought about in the caste system due to Colonialism? 

vFkok 
Hkkjr esa tu tkfr;ksa dk oxhZdj.k fdl izdkj fd;k x;k gS\  
How are tribes classified  in India? 
 

21- HkweaMyhdj.k ds fofHkUu vk;keksa ds uke fy[kdj laf{kIr o.kZu dhft,\  4 
Name the different dimensions of globatization? 

vFkok 
laLd`fr ij Hkwe.Myhdj.k ds izHkko dk laf{kIr o.kZu dhft,\ 
Write the effect of globalization at Culture? 
 
 



22- lekpkj&i= m|ksx esa tks ifjorZu gks jgs gaS mudhs :ijs[kk izLrqr dhft,\   4 
Outiline the changes taking place in the Newspaper industry 

vFkok 
d`"kd ,oa uo fdlku vkanksyuksa ds e/; varj crkb, \ 
. Differentiate between peasant and new peasant movements. 
  

23- Vsyhfotu ds ek/;e esa tks ifjorZu gksrs jgs gS] :ijs[kk izLrqr djsa\   4 
Write an outline of the changes that have been taking place in the medium of lelevision.  

vFkok 
fuEu ij y?kq fVIi.kh fyf[k,\  
1- efgykvksa ds vkanksyu 
2- tutkrh; vkanksyu 
 
Write short comment on the following. 
i) Women's movement. 
ii)  Tribal movement. 
 
  
 
 
  
  
 
 
 
 
  

 


